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1. Two dice are rolled. Find the probability that the sum of the dice is 9 or larger. Explain.
(11 points)

2. Find the probability of being dealt a flush (all cards in the same suit) in a five-card hand.
Explain. (11 points)

3. If three dice are rolled, find the probability that at least one of the dice is a six. Explain.
(11 points)
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4. Player A selects a card from a standard 52-card deck. If the card is a 10 or below (Ace
counts low), Player A wins $10 from Player B. If Player A selects a Jack, Queen, or King,
Player A pays Player B $30. Find the expected value of the game for Player A. (11 points)

5. A die is rolled, then another die is rolled. Let A denote the event that the sum of the dice
is 6. Let B denote the event that the second die is a 5. Are events A and B independent?
Are they mutually exclusive? Explain. (11 points)

6. In a survey of 200 men and 300 women, we find that 175 of the men like to watch football
and 25 do not, whereas, 160 of the women like to watch football and 140 do not. Find the
probability that a randomly selected person in the survey likes to watch football. Then
find the probability that a person is a man, given that the person likes to watch football.
(11 points)
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7. Draw a relative frequency histogram for the
dataset {5.1, 2.5, 12.3, 9.1, 7.1, 4.1, 13.4, 8.9,
3.1, 5.2, 6.8, 3.6, 2.2, 6.7, 3.9, 11.7, 7.1, 10.9,
1.2, 11.1}. Use 5 data groups each of width 3
starting at 0 (so that 0 ≤ x < 3 describes the
first category). (12 points)
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8. Calculate the mean, sample variance, and sample standard deviation of the sample data
set S = {6,2,5,7} (11 points)

9. A population is normally distributed with mean 42 and standard deviation 4. Find the
probability that a randomly selected member of the population is between 41 and 45.
(Refer to the table on the next page as needed.) (11 points)


